INTERNATIONAL INDIAN SCHOOL,RIYADH

SA 1  :  WORKSHEET 2013-14

CLASS :VII

SUBJECT: MATHEMATICS

CH.  1  :  INTEGERS
I
FILL IN THE BLANKS
1.  
________________ is the additive identity and _______________ is the multiplicative identity of integers.

2.
(-1)  x  even number of times  = _______________

3.
(-1)  x  odd number of times   = _______________

4.        38  ÷  0  =  _______________

5.
0  ÷ 11  =  _______________

6.
13 ÷ 1  + _______________

7.
55  +  _______________  =  0
8.
(-31)  +  _______________  =  0

9.
(-55)  + _______________ = -89

10.
(-33)  +  _______________  = 79

11.
1000 + _______________  =  - 1000

12.
[ (-7)  +  9]  + (_______________)  =  9  +  [ -7  +  4]

13.
(-6)  +  2  =  2  (_______________)

14.
251  ÷  _______________  =  1

15.
(-70)  ÷ _______________  =  5
16.
_______________  ÷  993  =  0

17.
_______________  ÷ 2395  =  1

18.
(-3589)  ÷ _______________  =   -1
19.
22 ÷  _______________  =  -11

20.
(-1)  x  (-1)  x  (-1)  x  (-1)  x  (-1)  = _______________
II
ANSWER THE FOLLOWING :
1.
A man travelled 30 km east of a place A and reached B.  From B he travelled 60 km west of B and reached C.  Find the distance of C from A.

2.
A man has Rs. 20,000 in his account in a bank.  He withdraws Rs. 3000 per month for the first two months and deposits double of this amount on third month.  What will be the balance in his account after 3 months?
3.
Verify  a – (-b)  =  a  +  b for the following values of a and b.


i)  a  =  -17              b =  +15

ii)   a  = 50        b  = 21

4.
Use >,  <  OR  = symbols in the blank space in each of the following


a.
(-3)  -  (-5)                 (-4)   +  (-9)


b.
71  -2  - 31                71 -  2  +31


c.
39  +  (-35) – (58)                37 + (-11)  -  (+26)

d.
23  +  (-8)   -  7                9  -  13  +  12

5.
The temperature at a place rises from – 200c to 200c.  What is the rise in temperature ?

6.
A place P is 82 m above the Sea level  and another place is 13 m below the Sea level.  What is the distance between the two places?

7.
Write down a pair of integers whose


i)  sum is  - 6


ii)  difference -8




iii)  difference  3

iv)  sum  0

8.
Write a negative integer and a positive integer whose


a)  sum  -9

b)  difference  -4

c)  sum  0
9.
Find the value of each of the following products


i)  (-3)  x  15


ii)  4  x  (-13)

iii)  (-23)  x  (-31)


iv)  (-3)  x  (-2)  x 7

v)   2 x  (-3)  x  (-1)  x (-5)




vi)   (-259)  x  (-51)  x  0
vii)  (-8)  x  2  x (-3) x  5  x (-1)



viii)  (-2) x (-4)  x 0  x (-6)  x  (-8)

ix)  (-5)  x  (-3) x (-4) x (-6) x (-7)
10.
Verify the following


i)  (-25)  x  [ (-7)  + (-15)]  = [ (-25)  x  (-7)]  +  [ (-25)  x  (-15)]

ii)  (-7)  x  [(-8)  +  9]  =  [-7  x  (-8)]  +  [(-7)  x  9]

11.
What will be the sign of the product   a x b if


i)  a is the product of 5 positive integers and b is the product of 9 negative   integers.


ii)  a is the product of 6 positive integers and b is the product of 8 negative integers.

iii)  a is positive and be is the product of 50 negative integers.
12.
Find the value of a if product of a with -1 is

i)  200

ii)  0

iii)  -300

13.
Find the product using suitable proportion :-

a.  8759  x  2391   -  2391  x  7759


b.  (-9785)  x  937  +  (-215)  x 937


c.  35  x  (-25)  x  (-4)  x  10

14.
Find the value of each of the following


i)  39 ÷ (-13)

ii)  (-729)  ÷  9

iii)  (-144)  ÷  (-12)


iv)  (-20000)  ÷  (-200)

v)   20513 ÷ (-1)


v)  (-49)  ÷ [ (-48)  +  (-1)

vii)  [  84  ÷  (-12) ]  ÷  7


viii)  [(-10)  +  5]  ÷  [  20  +  (-15)]

15.
In a test (+5) marks are given for every correct answer and (-2) marks are given for every incorrect answer


i)  Rohan answered all questions and scored 24 marks though he got 8 correct answers.

ii)  Smitha answered all questions and scored (-15) marks though he got 3 correct answers.  How many incorrect answer had they attempted?
16.
In a class test containing 15 questions 4 marks are given for every correct answer and (-1) marks are given for every incorrect answer.

i)  Gokul attempts all questions but only 6 of his answers are correct.  What is his total score?

ii)  Neena gets 12 of her answers correct.  What will be her score?

CH.  2  :  FRACTIONS AND DECIMALS

II
FILL IN THE BLANKS
1.
The product of two proper fractions is _______________ than each of the fractions.
2.
The product of two improper fractions is _______________ than each of the two fractions.
3.
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            = [image: image6.png]



4.
      x   [image: image8.png]


   =  [image: image10.png]



5.
Reciprocal of  [image: image12.png]


   is  
6.
1.2  x   100  =  _________
7.
2.5  x  1000 = _________

8.
2.97  x  10  = _________
II
ANSWER THE FOLLOWING :
1.
Solve
i)   4 -  [image: image14.png]


            ii)   2 [image: image16.png]


    +   3  [image: image18.png]


          iii)  [image: image20.png]


   +   [image: image22.png]


   + [image: image24.png]


             
2.
Arrange the numbers in descending order and ascending order

a.   [image: image26.png]


  ,  [image: image28.png]


 ,  [image: image30.png]


             


b.   [image: image32.png]


,  [image: image34.png]


 ,  [image: image36.png]


      
3.
Raju finished his work in   [image: image38.png]


  hrs.  Vrinda finished her work in  [image: image40.png]


  hrs.  Who worked longer ?  By what fraction was it longer?         
4.
Multiply and reduce to lowest  form and convert into a mixed fraction.


i)  40 x [image: image42.png]


  


ii)   22  x  [image: image44.png]




iii)    [image: image46.png]


  x  25
         iv)   2 [image: image48.png]


   x  14                  v)  3 [image: image50.png]


  x  18
5.       Multiply and reduce to lowest form


a.   [image: image52.png]


  x   [image: image54.png]




b.  3 [image: image56.png]


   x  [image: image58.png]


                c.  [image: image60.png]


   x   [image: image62.png]



6.       Which is greater

          a.    [image: image64.png]


   of   [image: image66.png]


       or     [image: image68.png]


   of  [image: image70.png]



7.       Find

          a.  6 ÷  5 [image: image72.png]


           b.  7  ÷  2 [image: image74.png]


               c.   7  ÷  [image: image76.png]



          d.  6  ÷  [image: image78.png]


              e.  2  ÷  [image: image80.png]


                  f.  [image: image82.png]


    ÷    [image: image84.png]



           g.   [image: image86.png]


  ÷  [image: image88.png]


              h.   2 [image: image90.png]


   ÷  [image: image92.png]


            i.  5[image: image94.png]o



    ÷  [image: image96.png]



8.       Express as rupees using decimals

          a.  479 paise                              b.  2 rupees  30 paise

          c.  25 rupees  85 paise             d.  75  paise

9.       Express 45 mm in  cm,   m  and km

10.
Ajmal bought 21 kg 360 g Wheat and 37 kg 350g Rice.  Roshan bought 32 kg 500g  Wheat and 28 kg 150 g Rice.  Who  bought more cereals.

11.
Find


a.  7.2  x  4


b.  8.1  x  2.1

c.  3.2  x  5.34

d.  7.1  x  5.2

e.  2.4  x  4.2

f.  1.2  x 2.53

g.  3.25  x  10

h.  21.365  x  10

i.  6.17  x  10


j.   6.17  x  100

k.  3.25 x  100

l.  21.365  x  100


m.  21.365  x  1000
n.  6.17  x  1000

o.  3.25  x  1000


p.  0.5  x  10

q.  6.3  x  100

r.   65.3  x  1000

12.
Find


a.  53.7  ÷  3


b.  25.6  ÷  8


c.  82.44 ÷  6


d.  15.5 ÷ 5


e.  126.35  ÷  7

f.  0.60  ÷  5

g.  7.75  ÷  0.25

h.  42.8  ÷ 0.02

i.  5.6  ÷ 1.4


j.  32.75 ÷ 0.25

k.  354.2 ÷ 10

l.  354.2 ÷ 100


m.  354.2 ÷ 1000

n.  2.38  ÷ 10

o.  2.38  ÷ 100


p.   2.38  ÷ 1000

q. 13.5  ÷ 10


r.   13.5 ÷ 100

s.   13.5  ÷ 1000

t.  29.63  ÷10

u.  29.63  ÷  100


v.  29.63  ÷  1000
CH.  3  :  DATA  HANDLING

1.
______________ is the most common representative value of a group of data.
2.
The difference between the highest and lowest observation is called ______________.

3.
The observation that occurs most often is called ______________.

4.
______________ refers the value which lies in the middle of the data.

5.
Find the mean of : -


a.  First 5 mean even numbers


b.  Odd Prime numbers below 10


c.  First 5 prime numbers

6.
Find the mean,  median and mode of the following data.

35,  32,  35,  42,  38,  32,  31

7.
Following are the number of members in 20 families in a village.


6, 8, 6, 3, 2, 5, 7, 8, 6, 5, 5, 7, 7, 8, 6, 6, 7, 7, 6, 5


Organize the data in a tabular form.

i)  What is the smallest family size?

ii) What is the most common family size ?

8.
When a die is thrown, what is the probability of getting


a.  
an even number 


b.  an odd number


c.  
zero




d.   5

9.
A man with a monthly salary of [image: image97.jpg]


 6400 plans his budget for a month as given below.

Item





Amount (in[image: image98.jpg]


)

Food





2100


Clothing




  600


Education




1200


Miscellaneous



1500


Savings




1000



Represent the above data by a bar graph.

10.
Given is the data of school going students (boy and girls)



Mode of Transport

Number of

Number of







Boys


 Girls



School bus


 75


 135



Walking


120


   60



Bicycle


240


 180


Other vehicle

150


   90


Draw a double bar graph to represent the above data.

CH.  4  :  SIMPLE EQUATIONS

1.
Solve the following equations
a.
[image: image100.png]


 -  5  = 2                                           b.   [image: image102.png]


  -  3  =  8
c.
[image: image104.png]da



 - 1  =  -9                                       d.  3y -2  =  1

e.        5  +  4  (P-1)  =  29                             f.   44 – 5 (P-1)  =  4

g.        7  =  5  (P– 2)                                      h.   12 =  4  +  3 (t + 3)
2.
Construct 4 equations starting with


a.  x  =  3

b.  x  =  -3

c.  x  =  1

d.   x  =  -1

3.
If 5 is subtracted from a number and the result is multiplied by  10 the answer is 20.  Find the number.
4.
Raju has some money.  If he gives on fifth of it to Raheem he is still left 
with   [image: image105.jpg]


20.  How much had he at first?  
5.
Maya says that she has  9 marbles more than 5 times the marble Roopa has.  Maya has 49 marbles.  How many marbles does Roopa has?
6.
The teacher tells the class that the highest marks obtained by a student in her class is twice the lowest marks plus 7.  The highest score is 97.  What is the lowest score?

7.
Length of a rectangle is twice its breadth.  If perimeter is 54 cm.  Find the length and breadth.

*******--------*******----------
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